xeagye
XN 5

[
E
aff ol 124

X2 -81 EfY¥A Je
Q10| AtYS WA 2

-

XX
R

SHIAIR

sut .

| HFAHS

HF A| Ept ZUE5 ANo|E H

EIEES:

TEE qo| JJAE £ - Jutl

) G,

2 TR0 TSR eraU,

J_-’—'“.- HA0| 7h50t1 LH-'?'— HAQ J1 30| 3T ME] @YU Z FHE X 8st ASLT
U2l F2 SO U o DI , 47 L% 12 SYULL
A - CEESS Chjr:fer S= (mLm) (mm) (rr?r%) (r?r:) (mm) (n?rl:]) g+ | BY
HF Ml2|X 1 ﬁ% Amole 2 - ]| LN%
M6x1 O HFAHSS6.0M 2.5P P4 62 1 27 6 - - 3 k
M8x1.25 O HFAHSS8.0N 2.5P P4 70 12 - 8 - - 3 m
M10x1.5 O HFAHSS0100 2.5P P4 75 13 - 10 - - 3 m
M10x1.25 O HFAHSSOT0N 2.5P P4 75 12 - 10 - - 3 m
M12x1.75 O HFAHSS012P 2.5P P4 82 15 - 12 - - 3 m
M12x1.5 O HFAHSS0120 2.5P P4 82 14 - 12 - - 3 m
M12x1.25 O HFAHSSO12N 2.5P P4 82 14 - 12 - - 3 m
M14x1.5 O HFAHSS0140 2.5P P4 88 14 - 12 - - 3 m
M16x1.5 O HFAHSS0160 2.5P P4 95 14 - 16 - - 3 m
M18x1.5 O HFAHSS0180 2.5P P4 100 14 - 16 - - 3 m
M20x1.5 O HFAHST0200 2.5P P5 05 14 - 16 - - 3 00m
X IHD &+ BA| 4ES MOt Y0X|=HE T SEEULC.
HF M2IZ =042 ANOJE
UR05 3% - QRS OAAE S - 29 2
- 8 —~w < Qn:. L
I M‘ @ g HH 5 E3:1D NP - WU YO, WET B HEL Y| Eg.fﬂxregauu u I
14 HA0| 7kt LHE HAIQ 71300 STt ME] @Y & E4s M8t UA&UCt
U205 72 59 UV F0I NP0, 47 42 /122U
2 A= He == L 00 8 | Di K | & | sx ge
A M SEESS Chamfer o= (mm) | (mm) | (mm) | (mm) | (mm) | (mm) g+ | B
HF 21X 2148 Antog & - O|Ef st +3
M6x1 } O : HFASPS6.0M i 2.5P 3 P4 62 19 27 6 - - 3 k
M8x1.25 O HFASPS8.0N 2.5P P4 70 22 - 8 - - 3 m
M10x1.5 O HFASPS0100 2.5P P4 75 24 - 10 - - 3 m
M10x1.25 O HFASPSO10N 2.5P P4 75 24 - 10 - - 3 m
M12x1.75 O HFASPSO12P 2.5P P4 82 29 - 12 - - 3 m
M12x1.5 O HFASPS0120 2.5P P4 82 29 - 12 - - 3 m
M12x1.25 O HFASPSO12N 2.5P P4 82 29 - 12 - - 3 m
M14x1.5 O HFASPS0140 2.5P P4 88 30 - 12 - - 3 m
M16x1.5 O HFASPS0160 2.5P P4 95 | 32 - 16 - - 3 m
M18x1.5 O HFASPS0180 2.5P P4 100 37 - 16 - - 3 m
M20x1.5 O HFASPT0200 2.5P P5 105 37 - 16 - - 3 m

XTI 2 * EA| NES WDt QORI Tij S2EUC

Think threads with

YAMAWA

[ 010 02 4 1o J2 ]

W o e |

U gx
> = >

00

X 00

02 n

il

/ m — i / Oy b /

Tim o2k 2ry
I 21T 4>Jin

n

u

nu

M

£

SP-74

115

I /H



